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 Roll No. 

 
No. of Questions – 30    

No. of Printed Pages – 8  

 

 (ECONOMICS) 

  (-)  , 2020 
 4¼ 

 80

     
GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1)    -      

Candidate must write first his / her Roll No. on the question paper 

compulsorily.

  (2)       

All the questions are compulsory.

  (3)       -     

Write the answer to each question in the given answer-book only.
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  (4)      ,          

For questions having more than one part, the answers to those parts are to 

be written together in continuity.

(5) -          //   

         

If there is any error / difference / contradiction in Hindi & English 

versions of the question paper, the question of Hindi version should be 

treated valid. 

(6)           

  1-10 1 10  

  11-18 2 20  

  19-27 4 30-40  

  28-30 6 250-300  

 

Section Q. Nos. Marks per question Word limit of 

answer 

A 1-10 1 10 words 

B 11-18 2 20 words 

C 19-27 4 30-40 words 

D 28-30 6 250-300 words 

  (7)   28, 29  30     

Question Nos. 28, 29 and 30 have internal choices. 
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 –  
SECTION – A 

 

1.          
Name any two early Indian Economic thinkers. ½ + ½ = 1 

 

2.      
Define Static analysis. 1 

 

3.       ?
What is meant by opportunity cost ? 1 

 

4.      ?
What is meant by the short run ? 1 

 

5.      
Give the formula of total revenue.  1 

 

6.     ?
What is a shopping mall ? 1 

 

7.       
Write the names of two capital goods. ½ + ½ = 1 

 

8.               ?
Who first used the national income for the calculation of Economic growth ? 1 

 

9.     ?
What is Sustainable Development ? 1 

 

10.        ?
What do you mean by the Revenue deficit ? 1 
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 –  

SECTION – B 

 

11.          

Give any two differences between Micro and Macro Economics. 1 + 1 = 2 

 

12.     

Draw a market supply curve.  2 

 

13.     

Define Monopoly. 2 

 

14.       

Differentiate between Stock and Flow. 1 + 1 = 2 

 

15.        (NNPmp) ` 4,00,000  ,   (IT)  

` 10,000     (S) ` 5,000          
(NNPFC)    

If the Net National Product at market price (NNPmp) is ` 4,00,000 crores, 

Indirect tax (IT) is ` 10,000 crores and subsidy (S) is ` 5,000 crores, then 
calculate Net National Product at factor cost (NNPFC).   2 

 

16.     (MPC) 0.6      (MPS)        
 

If Marginal Propensity to Consume (MPC) is 0.6, then find the value of 
Marginal Propensity to Save (MPS). 2 
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17. -      ?

What is meant by the zero-base budget ? 2 

 

18.     -        

In your view, describe any two benefits of cashless transactions. 1 + 1 = 2 

 

 –  

SECTION – C 

 

19.        

State any four determinants of demand.  1 × 4 = 4 

 

20.            : 

 () 1 2 3 4 

  (`) 60 76 87 92 

Calculate Average Cost and Marginal Cost from the following data : ½ × 8 = 4 

Quantity (Units) 1 2 3 4 

Total Cost (`) 60 76 87 92 

 

21.             

State any two features of Oligopoly. Draw the demand curve in Oligopoly. 2 + 2 = 4   

 

22.                

Discuss the effect of the increase in demand on market equilibrium with the 
help of a diagram. 2 + 2 = 4 
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23.            
Describe the relationship between National Income and Economic Welfare. 4 

 

24.    M1  M3       

 Write the formulas for the measurement of M1 and M3 of the money              

supply.   2  2 = 4 

 

25.               
Determine the equilibrium level of income in a two-sector economy with the 
help of a diagram. 4 

 

26.                 
  
Suggest any four fiscal measures to be adopted by the government in the 
situation of excess demand and inflation. 1 × 4 = 4 

 

27.         
Distinguish between trade balance and balance of payment. 2 + 2 = 4 

 

 –  
SECTION – D 

 

28.                 
    

 

                  
Discuss Consumer’s equilibrium with the help of budget line and indifference 
curve. Draw a diagram also. 4 + 2  = 6 

OR 

Discuss the geometric method of measurement of price elasticity of demand. 
Draw a diagram also. 



 7 

SS-10-Econ. (D&D) (Supp.)  [ Turn over 

29.            

                                 

            
Explain the production function of fixed proportions with the help of a diagram. 

     4 + 2 = 6 

OR

Explain the law of variable proportions with the help of a diagram. 

 

30.          :      

                         

         :        
Describe any six functions performed by the Reserve Bank of India. 1 × 6 = 6 

                                OR 

Mention any six functions and services performed by the Commercial Banks. 

      

____________  
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